Neutrons
- 2 —

/ Protons
N

1.2

R/r, A"

1.0

Protons i
Neutrons

-0.5

|\\\\|\\\\|\\\\|\\
00 05 1.0

B

Protons
Neutrons

\Il\\\\l\\\\l

o] AN |z | =
0\'_‘/\"1/‘_"‘—""—‘-’]“‘~‘\‘\‘ | T T
/>-\ | ]
Q 5 Protons -
é i Neutrons |
<
-10~ -
257 | T 11 | T 17 | T T T | T T ]
20 _
S 190 g
] L -]
s L il
~— - <
Ll 10? ...... .-7
5 .
07 | [ [ | L1 1| | L1 ]
-0.5 0.0 0.5 1.0

B

_\\\\l\\\\l\\\\_l_

]

[0}
o

NN
3
| T T 11 | = 1 1 | T 11

o

o
I

ZPE (MeV)

- Q

Ol\\\\l\\\\l\\\\l\\

00 05

B

-0.5

HFB-D1S Bruyeres-le-Chatel

1.0

p(r) (fm”)

Protons
Neutrons

5

10

r (fm)

=
ol




